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(a) Prove that the internal inductance of the
conductor is independent of conductor
dimension.

(b) State and explain the classification of
distribution systems.

(@) wdrg &) {6 ards &1 ImaR® Wb
it & gRATOT R iR 9 sxar 21

(@) faazvr g &1 aiffever &vd gU
AT BN |
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2019(Even)

Time : 3Hrs. Sem. IV - E
PS-1
Full Marks : 80
Pass Marks : 26
Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-Ad a+l 20 ¥l @ IR <, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
carries 4 marks.
4u—B & 9 uia y¥l @ SR <, UAD U BT 44 4 3B 2 |
Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS U &1 A9 8 3(d 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9] I BT SR UP &l oiE (AR HH H)

BIFT 1Ry, 3=gem 4 wiid -2l off 9ad 2 |

The figure in right hand margin indicate marks.
< ued & 3id Yuiie & qad @ |
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State and explain Medium Transmission line. Find
an expression for capacitive current, sending end
current and sending end voltage of Medium
Transmission line by using Nominal T method.

7Y AR s & dR H fod qem aarem
& | A &) fafsr & gerdar 9 95y gERor
arsd & foav Gefia oRT, 99 o1 9ra
fAIR @1 gRT AT AW WF drd AR BT
diees & foy aivied urad &) ((Frarel) |

(iii)

(a) Describe the classification of overhead
Transmission lines in brief.

(b) Write the name of different types of Insulators
used in overhead Transmission line and explain
in brief. g

(31) RRUR axvr a5 o1 TffHxor s
gV S Wi arr a |

@) RRIUR "a=or arsa A ygad gAard
faffr=1 e @ gfoRieh &1 7 forg
TAT SUDT Aidrag ar=ar 3 |

(i)

(iv)
OR(372rd)

A two conductor single phase line operates at 50 Hz
The diameter of each conductor is 20 mm and the
spacing between the conductor is 3 meter. Calculate
(a) The Inductance of each conductor/km

3 20401

ot vifad GId H RGN g ah
H <919 fasfia fear Smar 8 —

(31) TxaTzH ™I

(@) dsTER gT

(&) guR dex grT

(]) wrs d1e} U gRI

The main function of economizer of boiler
plant is to -

(a) Increase stem pressure

(b) Increase stem production

(c) Increase life of the boiler

(d) Reduce fuel consumption

U digeR A9 & SHIFHIGOR &I
= &1 2 —

(31) a7 GATd B ST

(@) arsg frter (Scalki) @1 ge™T|
(@) sfaeR & <3 &t 9gm™T|
() S99 & @Ud DI HH HIAT |

The largest size of steam turbine installed
in India is......cc.coe..

(a) 100 MW

(b) 250 MW

(c) 500 MW

(d) 1000 MW

P.T.O
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Draw a schematic arrangement of Nuclear power
station and explain in brief.

foerR wfed ufIs™ & a1 &1
wREl i qr g4y # quia oW |

State and explain the functions of superheater

and condensers in steam power station or thermal
power station. A steam power station spends Rs.
20 lakhs per annum for coal used in the station.
The coal has a calorific value of 5000 k cal/kg

and cost Rs. 250 per ton. If the station has thermal
efficiency of 30% and electrical efficiency 90%.
Find the overage load on the station. 8

arsg erfaa ufass= ar e wifed ufaser o
uEIeR a1 4aiRE & sl & IR 9 ford
Ud ATl B | TP arsg Ifaa ufass= #
yfaad daer & SUAT & v 20 d”g wWA
Wd HIAT 8 | BIAT BT dAIRBIS A 5000
foal oa /fHalu™ 8 Ud dIHd 250=00 wIA
yfdes 21 3R ufass= &) odfd <&dar 30%
aorr fagga &rdar 90% @l dl ufiase™ )
Jtea faegd wR fared | (@) v 9R)

04023

(vi)

(vii)

(vii)

(viii)

5 20401

U od faga wfed 997 4 ¢ |ol
3@ Irafkera v&ar @ —

@) SH @ Ao |

(@) 29 T D ASED |

(F) RORARR & oI |

(]) eXE13 @ Toid® |

Reheat cycle in a steam power station is
used for

(a) Improving condenser performance
(b) Improving thermal efficiency

(c) Utilising heat of flue gases

(d) Reducing heat losses

U$h 9ISy fad WA | gAdid I &l
qER BIdl B—

(31) BTSSR DI U Bl DN |
(@) ardiI S&dr 9STHN |

(¥) Yol 9 BT AU BT STANT R |
(]) ardra &1 &1 GeTaHv |

In a steam power plant water is used for
cooling purposes in

(a) Economiser

(b) Superheater

(c) Electrostatic precipitator

(d) Condenser

P.T.O
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State and explain the different methods of
improving string efficiency.

o<l gudr 9™ @ fafr= afiel &1 fod
dqAT ARAT DY |

5.  What is Ferrantic effect ? Explain it with the (xi)
help of phasor diagram ? 4

BRI YHTd T 8 7 Dok ARY Bl
Tl 9 SHB! AT B |

OR(3121dT) (xi)

State and explain different factors affecting corona
and their practical importance.

DIRHET I q1fad H¥1 arat fafir<1 dRaI
dAT SUd AdeIRe Hgd dl foid Td =l i
ﬁ.l X11

6. What is short transmission line ? Derive an
expression for A, B, C and D constant.

BICT (oY) WAV 13 T & ? A, B,
C @D Rexie & fou @vie e |

7 20401

ARd A Yo fFerR wfad |93 o
ATYAT DY TS—

(31) ARTIR (TBRTS)

(@) RIRT (SH)

(4) ®rer (RTorer)

(]) weruddd (AfieTS)

When a nuclear reactor is operating at
constant power the multiplication factor
(a) Is less than unity

(b) Is equal to unity

(c) Is greater than unity

(d) May be any of the above

o4 s fragferar Ruaer Rer wrfa
WR B B Bl © dl I[UIUTERT HRb
@) o1 A &9 Bar 2|
(4) SBIS & IxI&} BHaT 2 |
(@) $b1s @ dsr1 BT 2|
(?) SWRIad A & B U B APl 2 |

The power output of a nuclear power station

1s proportional to :-

(a) The rate at which fission reaction occurs.

(b) Square root of the rate at which fission
reaction occurs.

(c) Square of the rate at which fission
reaction occurs

(d) None of the above

P.T.O
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(xx)  Ferrantic effect happens in transmission line
when the line is -
(a) Short and loaded
(b) Long and unloaded
(c) Long and loaded
(d) None of these

(xx) AR ATSH § BRI Y919 shdT &
o9 oIS —
(31) Bler dm ARYFd &l |
(@) 9T (1) TAT ARHTA B |
(|) ST (or<T) AT HARYFA & |
(?) 3% @ BIg TN |

GROUPB

Answer all Five Questions. 4x5 =20

Il ufg gl & SR o

2.

Explain with the help of neat diagram the working
of cooling tower in a thermal power plant.

4
o6 ARG &I 5 4 oHd UraR wiic A
g1 crad & s @ dArET W |

04023

(xiv)

(xiv)

(xv)

(xv)

9 20401

Which of the following distribution systems
is preferred for good efficiency and high
economy ?

(a) Single phase, 2 wire system

(b) 2-phase, 3 wire system

(¢) 3-phase, 3 wire system

(d) 3- phase, 4 wire system

IS qEdr a1 3ftre feera & ford
=1 4 9 9 a1 faarur ugfa Suga
3

@) 1—%w, 2 ar ugfa

(@) 2—%, 3 AR ygfa

() 3—»9, 3 dR ugfa

() 3—®ol, 4 AR ygfa

Which type of insulators are used on 132 KV
transmission lines ?

(a) Shackle type

(b) Pin type

(c) Pin and shackle type

(d) Disc type

132 fPdll dlec AR oz & ford
fo| ypR & fagga e &1 FaErR
foar Sirar 2 ?

(31) Trhdd PR

(@) 9 o

(&) U =T oTdd UeR

(]) s yaR
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